
Name: _______________________

Math Computation Riddles 2

A farmer has goats, horses and chickens on
his farm. The number of horses is double the
number of goats. The number of chickens is
five times as many goats. The animals have
a total of 44 legs. How many of each animal
does the farmer have?

I have 2 secret numbers. Each number has 2
digits. The secret numbers use the same
digits, only reversed. The difference between
the two secret numbers is 54. The sum of the
digits in each secret number is 10. What are
my two secret numbers?

Find a way to get the number 23 by only
using the number 2 in an equation.

Create your own riddle! Write it in the box
below. Then write the answer on the back!




